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<Start of Changes for 38.810>
5.2.1.3.4
Peak EIS Measurement Procedure
The RX beam peak direction is where the minimum EIS is found according to 5.2.1.3.8.
The measurement procedure includes the following steps:
1)
Establish a connection between the DUT and the SS with the downlink signal applied to the PolLink= 0deg polarization of the measurement antenna 

2)
Position the UE so that the beam is formed towards the measurement antenna in the RX beam peak direction

3)
Determine EIS(PolMeas=0 PolLink=0 for 0degpolarization, i.e., the power level for the 0degpolarization at which the throughput exceeds the requirements for the specified reference measurement channel
4)  Switch the downlink to polarizations with 15deg step size, determine EIS(PolMeas=15 PolLink= , EIS(PolMeas=30 PolLink= , EIS(PolMeas=45 PolLink= , EIS(PolMeas=60 PolLink= , EIS(PolMeas=75 PolLink= , EIS(PolMeas=90 PolLink= , EIS(PolMeas=105 PolLink= , EIS(PolMeas=120 PolLink= , EIS(PolMeas=135 PolLink= , EIS(PolMeas=150 PolLink=and EIS(PolMeas=165 PolLink= sequentially, i.e., the power level for each polarization at which the throughput exceeds the requirements for the specified reference measurement channel



6)
Calculate the resulting averaged EIS as: 
EIS = 2*[1/min(EIS(PolMeas=0 PolLink=0 EIS(PolMeas=30 PolLink= EIS(PolMeas=60 PolLink= EIS(PolMeas=90 PolLink= EIS(PolMeas=120 PolLink= EIS(PolMeas=150 PolLink=+1/min(EIS(PolMeas=15 PolLink=15 EIS(PolMeas=45 PolLink= EIS(PolMeas=75 PolLink= EIS(PolMeas=105 PolLink= EIS(PolMeas=135 PolLink= EIS(PolMeas=165 PolLink=]-1

5.2.3.3.4
Peak EIS Measurement Procedure

The RX beam peak direction is where the minimum EIS is found according to 5.2.1.3.8.
The measurement procedure includes the following steps:
1)
Establish a connection between the DUT and the SS with the downlink signal applied to the PolLink= 0deg polarization of the measurement antenna 

2)
Position the UE so that the beam is formed towards the measurement antenna in the RX beam peak direction

3)
Determine EIS(PolMeas=0 PolLink=0 for 0deg polarization, i.e., the power level for the 0deg polarization at which the throughput exceeds the requirements for the specified reference measurement channel

4)
Switch the downlink to polarizations with 15deg step size, determine EIS(PolMeas=15 PolLink= , EIS(PolMeas=30 PolLink= , EIS(PolMeas=45 PolLink= , EIS(PolMeas=60 PolLink= , EIS(PolMeas=75 PolLink= , EIS(PolMeas=90 PolLink= , EIS(PolMeas=105 PolLink= , EIS(PolMeas=120 PolLink= , EIS(PolMeas=135 PolLink= , EIS(PolMeas=150 PolLink=and EIS(PolMeas=165 PolLink= sequentially, i.e., the power level for each polarization at which the throughput exceeds the requirements for the specified reference measurement channel
l

5)
Calculate the resulting averaged EIS as 


EIS = 2*[1/min(EIS(PolMeas=0 PolLink=0 EIS(PolMeas=30 PolLink= EIS(PolMeas=60 PolLink= EIS(PolMeas=90 PolLink= EIS(PolMeas=120 PolLink= EIS(PolMeas=150 PolLink=+1/min(EIS(PolMeas=15 PolLink=15 EIS(PolMeas=45 PolLink= EIS(PolMeas=75 PolLink= EIS(PolMeas=105 PolLink= EIS(PolMeas=135 PolLink= EIS(PolMeas=165 PolLink=]-1
<End of change>
